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Comment: (2) & Theorem 3 =) Theorems 1 & 2 (sort-of).

Notation: D = R(f; f 0), the resultant of f and f 0
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If there are no integers m in (n; n+ h] such that f(m) is k-free, then
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De�nition 2: Let Sr(T ) be the number of 2r-tuples (p1; : : : ; pr;m1; : : : ;mr) with T < p1 < p2 < � � � < pr � 2T such
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Lemma 6: Let r be a positive integer. If r = 1, then
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Lemma 7: If T � H and r 2 Z
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Lemma 8: For T as previously de�ned,
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Lemma 9: Let k � (
p
2� 1=2)g. Let " 2 (0; (k � 1)=k] such that
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For Proof of Theorem 2:

j � maxf
 + "0; 2g ("0 to be chosen depending on ")

h � XÆ0 (Æ0 depends on "0, j, k, and 
)

Fi(n) =
P

�i
G(n; T ) for i 2 f1; 2; 3; 4; 5g

j1 = j2 = j3 = j and j4 = j5 = 1

Five Cases:

Let �1 represent the case that T � X1�" and G(n; T ) � 2gj.

Let �2 represent the case that T > X1�" and G(n; T ) � 2gj.

Let �3 represent the case that T � X1=(kj) and G(n; T ) > 2gj.

Let �4 represent the case that X1=(kj) < T � X1�" and G(n; T ) > 2gj.

Let �5 represent the case that T > X1�" and G(n; T ) > 2gj.
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